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QUESTION 1

When do you need to use the GROUP BY clause in the SELECT statement? 

A. If you want to redefine the sequence of the columns in the result set 

B. If you want to use aggregate functions and all components in the field list are aggregate functions 

C. If you want to use ORDER BY to specify a sub-order 

D. If you want to use aggregate functions and at least one component in the field list is a column identifier 

Correct Answer: D 

 

QUESTION 2

Which of the following tools belong to the ABAP Workbench? (Choose three.) 

A. Form Builder 

B. Function Builder 

C. Screen Painter 

D. Class Builder 

E. Easy Access Menu 

Correct Answer: BCD 

 

 

QUESTION 3

A complex da object must be declared in your Top Include for a ble control. What is it\\'s TYPE? 

A. CXB 

B. bleView 

C. bleControl 

D. ble 

Correct Answer: B 

 

QUESTION 4

The cardinality of a foreign key relationship is defined as 1:N What does this imply? 
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A. One record of the check ble is assigned to many records of the foreign key ble 

B. Many records of the check ble are assigned to one record of the foreign key ble 

C. One record of the foreign key ble is assigned to one record in the check ble 

Correct Answer: A 

 

QUESTION 5

Identify the basic objects of the da dictionary. (More than one answer is correct) 

A. Da Models 

B. bles 

C. Da Elements 

D. Documention 

E. Domains 

Correct Answer: BCE 

Latest C_TAW12_750
Dumps

C_TAW12_750 VCE Dumps C_TAW12_750 Practice
Test

Powered by TCPDF (www.tcpdf.org)

Latest C_TAW12_750 Dumps | C_TAW12_750 VCE Dumps | C_TAW12_750 Practice Test                               3 / 3

https://www.pass4itsure.com/c_taw12_750.html
https://www.pass4itsure.com/c_taw12_750.html
https://www.pass4itsure.com/c_taw12_750.html
https://www.pass4itsure.com/c_taw12_750.html
https://www.pass4itsure.com/c_taw12_750.html
http://www.tcpdf.org
https://www.pass4itsure.com/c_taw12_750.html
https://www.pass4itsure.com/c_taw12_750.html
https://www.pass4itsure.com/c_taw12_750.html

